Christmas Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 6.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 2 BLOCK).

512
2 5 6
4 213 5
411
5|3 2 6 41112 3
6 | 4 3 4
2 6 2|3
4 2 3 6| |4
36| |1 4151326
511 4|2 6 5
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 6.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 2 BLOCK).

6 1314152
211154 63
1153|624
4161231115
51al1]2]3]6
3126|541
51314216 41112563
112164135 615/3|1]4]2
3112156 |4 51642311
4161511213 21311654
2141361511 |[1]4]s5]|3]|2]6
615 1]|34]2 31216415
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